FRi3 14482 1 ARFORERE

NEA3z (g ek (S HE, SBEDH
1%t ME ERTE 2,473 =Pt
2 |ARAE ERTE 2,096 Pt
3 |BTH =% |[&FE 1,956 Pt
4 1N FT NG 1,743 =Pt
5 |KE E ERTE 1,709 Pt
6 L IE3 AR 1,705 Pt
7EE B EAE 1,700 HiE
8 |[x& 1H TR 1,593 Pt
9 |[.ER Mk EE 1,589.536 Pt
10 |%& = EAE 1,586.536 Pt
11 |E® =7 TR 1,545 Pt
12 |WHE =& ERTE 1,476 Pt
13 |22 = EAE 1,372.463 Pt
14 | KXFE #05h ERTE 1,371.463 Pt
15 |BEE  BE NGk 1,336 EpEs
16 |t k= TR 1,265 Pt
17 |#%E &7 HBTE 1,212 EPEs
18 |&F AlF ETE 1,194 Pt
19 |[ARER IE—BF |&EFFiE 1,131 Pt
20 |BREX IE HARER 972 EPEs
21 |1E4K EfE |EFE 940 Pt
22 |RIRAE IRX |EFFE 861 EE
23 |&=H #R HBTE 542 B




